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All India Maha Mock: SBI Clerk Prelims 08-July-2021  

(Solutions) 
 

S1. Ans.(b) 

Sol. Refer to paragraph1 of the passage, we can easily conclude that the investigators didn’t have any 

hint of the place about which conversation was going on between the don and the broker, infact they 

were surprised to know about their operation being conducted from that faraway place. 

 

S2. Ans.(b) 

Sol. Read the passage carefully, it can be easily inferred that only option (b) is incorrect in the context 

of the passage, remaining four statements are completely true. 

 

S3. Ans.(c) 

Sol. Refer to paragraph 2 of the passage, it is clearly mentioned that the pope started his criminal career 

by joining imertis a “respected family” involved in the “Second ‘Ndrangheta,” War in which almost 

500 people were killed between 1985 and 1991. 

 

S4. Ans.(d) 

Sol. Read paragraph3 of the passage carefully, it is clearly mentioned that both Giuseppe Pensabene 

and EmanueleSangiovanni were part of Northern Italy’s criminal organization since long and they had 

various links in different countries to execute their operations and gain funding. 

 

S5. Ans.(e) 

Sol. Read paragraph4 of the passage, it can be inferred that the arrest of EmanueleSangiovanni along 

with 38 other people helped the Italian investigators in tracking various links of these two people and 

their associates. It helped the investigators in knowing about the growth of their network from a tiny 

office to cocaine trafficking in different parts of the world. 

 

S6. Ans.(a) 

Sol. In context of the passage, as compared to other options, option(a) seems to be the most appropriate 

title for the given passage. 

 

S7. Ans.(b) 

Sol. Haunted means showing signs of mental anguish or torment. 

Hence it has same meaning as  

tormented. 

 

S8. Ans.(d) 

Sol. Focused means pay particular attention to. Hence it has 

opposite meaning to concentrated. 
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S9. Ans.(c) 

Sol. Launder means conceal the origins of (money obtained illegally). Hence it has opposite meaning 

as approve. 

 

S10. Ans.(a) 

Sol. Accomplished means highly trained or skilled in a particular activity. Hence it has opposite 

meaning as incompetent. 

 

S11. Ans.(b) 

Sol. The correct sequence will be BECAFD. Going through the sentences we can clearly see that (B) will 

be the first sentence because of the sentence structure of the other sentences. For example: Use of ‘These’ 

in the beginning of the sentence (A) makes it clear that it cannot be the first sentence. Now this should 

be followed by (E) which is adding to the moves taken by SEBI to benefit the investors. Now, the (C) 

sentence should be followed by (A) which is highlighting the benefits of these steps. Now from the 

remaining two options (D) will be the last sentence because it is summarizing the passage, for which 

the hint can be drawn from the phrase, “In the end…” by presenting a balanced view of the steps of 

the SEBI, and the remaining sentence will be the fifth sentence in rearrangement. Hence, option (b) is 

the correct answer. 

 

S12. Ans.(d) 

Sol. The correct sequence will be BECAFD. Going through the sentences we can clearly see that (B) 

will be the first sentence because of the sentence structure of the other sentences. For example: Use of 

‘These’ in the beginning of the sentence (A) makes it clear that it cannot be the first sentence. Now this 

should be followed by (E) which is adding to the moves taken by SEBI to benefit the investors. Now, 

the (C) sentence should be followed by (A) which is highlighting the benefits of these steps. Now from 

the remaining two options (D) will be the last sentence because it is summarizing the passage for which 

the hint can be drawn from the phrase, “In the end…” by presenting a balanced view of the steps of 

the SEBI, and the remaining sentence will be the fifth sentence in rearrangement. Hence, option (d) is 

the correct answer. 

 

S13. Ans.(a) 

Sol. The correct sequence will be BECAFD. Going through the sentences we can clearly see that (B) 

will be the first sentence because of the sentence structure of the other sentences. For example: Use of 

‘These’ in the beginning of the sentence (A) makes it clear that it cannot be the first sentence. Now this 

should be followed by (E) which is adding to the moves taken by SEBI to benefit the investors. Now, 

the (C) sentence should be followed by (A) which is highlighting the benefits of these steps. Now from 

the remaining two options (D) will be the last sentence because it is summarizing the passage for which 

the hint can be drawn from the phrase, “In the end…” by presenting a balanced view of the steps of 

the SEBI, and the remaining sentence will be the fifth sentence in rearrangement. Hence, option (a) is 

the correct answer. 



3 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com 

 

S14. Ans.(b) 

Sol. The correct sequence will be BECAFD. Going through the sentences we can clearly see that (B) 

will be the first sentence because of the sentence structure of the other sentences. For example: Use of 

‘These’ in the beginning of the sentence (A) makes it clear that it cannot be the first sentence. Now this 

should be followed by (E) which is adding to the moves taken by SEBI to benefit the investors. Now, 

the (C) sentence should be followed by (A) which is highlighting the benefits of these steps. Now from 

the remaining two options (D) will be the last sentence because it is summarizing the passage for which 

the hint can be drawn from the phrase, “In the end…” by presenting a balanced view of the steps of 

the SEBI, and the remaining sentence will be the fifth sentence in rearrangement. Hence, option (b) is 

the correct answer. 

 

S15. Ans.(c) 

Sol. The correct sequence will be BECAFD. Going through the sentences we can clearly see that (B) 

will be the first sentence because of the sentence structure of the other sentences. For example: Use of 

‘These’ in the beginning of the sentence (A) makes it clear that it cannot be the first sentence. Now this 

should be followed by (E) which is adding to the moves taken by SEBI to benefit the investors. Now, 

the (C) sentence should be followed by (A) which is highlighting the benefits of these steps. Now from 

the remaining two options (D) will be the last sentence because it is summarizing the passage for which 

the hint can be drawn from the phrase, “In the end…” by presenting a balanced view of the steps of 

the SEBI, and the remaining sentence will be the fifth sentence in rearrangement. Hence, option (c) is 

the correct answer. 

 

S16. Ans.(e) 

Sol. There is no need for improvement in the given sentence. 

Cut off means take out of a will. 

Done over means beat up, ransack. 

hand something in means submit. 

Looked into means investigated. 

Put down means to insult. 

 

S17. Ans.(c) 

Sol. “acted out in” means express an emotion in your behavior. 

Back out of – Not keep an agreement / arrangement. 

Check out – Leave a hotel. 

Get on with means step onto a vehicle. 

 

S18. Ans.(b) 

Sol. Put across means explain or state something clearly and understandably. 

Put aside means to save. 

Look after means Watch or protect; to keep safe. 

Pull through means recover from and illness. 

Fall over means to stop working suddenly. 
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S19. Ans.(e) 

Sol. There is no need to improve the sentence as broke down which means ending negotiations is 

correctly used here. 

Cut out means remove part of something. 

Do away with means discard. 

Chipped in means help. 

 

S20. Ans.(c) 

Sol. Got back at means retaliate, take revenge. 

Get around means have mobility. 

Hold up means to rob 

Passed out means give the same thing to many people 

 

S21. Ans.(c) 

Sol. ‘brought’ best suits the purpose as it completely justifies the paragraph. 

Accrued means be received by someone in regular or increasing amounts over time. 

 

S22. Ans.(a) 

Sol. ‘capital’ is the correct word to be replaced as the paragraph revolves around the theme of 

recapitalization. 

 

S23. Ans.(a) 

Sol. ‘addressed’ is the correct word to be replaced. 

Beseeched means ask someone urgently and fervently to do or give something. 

Implored means beg someone earnestly or desperately to do something. 

 

S24. Ans.(b) 

Sol. ‘approach’ is the correct word as the sentence talks about the way the government recaptilised the 

banks in 1980-1990s. 

Orate means make a speech, especially pompously or at length. 

Spout means express (one's views or ideas) in a lengthy, declamatory, and unreflecting way. 

 

S25. Ans.(c) 

Sol. ‘infused’ best suits the purpose as the paragraph is about recapitalization which means infusing 

the capital in Publc sector banks. 

 

S26. Ans.(a) 

Sol. The most suitable set of words to fill the blanks to make the sentence grammatically correct and 

contextually meaningful is “epicenter, subsequent”. Hence, option (a) is the most viable answer choice. 

Epicenter means the point on the earth's surface vertically above the focus of an earthquake. 

Subsequent means coming after something in time; following. 
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S27. Ans.(e) 

Sol. The most suitable set of words to fill the blanks to make the sentence grammatically correct and 

contextually meaningful is “generous, voluntary”. Hence, option (e) is the most viable answer choice. 

Generous means showing a readiness to give more of something, especially money, than is strictly 

necessary or expected. 

Voluntary means done, given, or acting of one's own free will. 

 

S28. Ans.(d) 

Sol. ‘spirits, determination, deployed’ is the correct use. 

Timidity means lack of courage or confidence. 

Sobreity means the quality of being staid or solemn. 

 

S29. Ans.(e) 

Sol. ‘though, measure’ is the correct set of words making the sentence meaningful. 

 

S30. Ans.(d) 

Sol. ‘negotiations, between’ is the correct set of words. 

Stipulation means a condition or requirement that is specified or demanded as part of an agreement. 

 

S31. Ans.(b) 

Sol.  

 
 

S32. Ans.(d) 

Sol.  

 
 

S33. Ans.(c) 

Sol.  
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S34. Ans.(d) 

Sol.  

 

 

S35. Ans.(b) 

Sol.  

 

 

S36. Ans.(b) 

Sol.  

 

 

S37. Ans.(e) 

Sol.  

 

 

S38. Ans.(b) 

Sol.  

 

 

S39. Ans.(a) 

Sol.  
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S40. Ans.(d) 

Sol.  

 

 

S41. Ans.(a) 

Sol.  

 
 

S42. Ans.(e) 

Sol.  

 

 

S43. Ans.(b) 

Sol.  

 
 

S44. Ans.(c) 

Sol.  

 

 

S45. Ans.(c) 

Sol.  
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S46. Ans.(b) 

Sol.  

 

 

S47. Ans.(a) 

Sol.  

 

 

S48. Ans.(d) 

Sol.  
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S49. Ans.(e) 

Sol.  

 
 

S50. Ans.(e) 

Sol.  

 
 

S51. Ans.(c) 

Sol.  

 
 

S52. Ans.(b) 

Sol.  
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S53. Ans.(d) 

Sol.  

 
 

S54. Ans.(b) 

Sol.  

 
 

S55. Ans.(e) 

Sol.  

 
 

S56. Ans.(d) 

Sol.  

 
 

S57. Ans.(a) 

Sol.  
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S58. Ans.(d) 

Sol.  

 
 

S59. Ans.(c) 

Sol.  

 
 

S60. Ans.(d) 

Sol.  

 
 

S61. Ans.(b) 

Sol.  

 
 

S62. Ans.(a) 

Sol.  

 
 

S63. Ans.(a) 

Sol.  
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S64. Ans.(b) 

Sol.  

 
 

S65. Ans.(c) 

Sol.  

 
 

S66. Ans.(a) 

Sol. From the given statements, S faces the one who sits immediate to the left of A. There are two 

persons sit between A and D. Here we have 3 possibilities i.e. Case 1, Case 2 and Case 3. Both B and 

E are immediate neighbors. From this statement we know the exact position of C.  

 
From the given statements, P sits 2nd to the right of R. Only Q is an immediate neighbor of R. Now Case 

2 and Case 3 are ruled out. T faces the one who sits 2nd to the left of B.  

So, the final arrangement is such as- 

 
 

S67. Ans.(b) 

Sol. From the given statements, S faces the one who sits immediate to the left of A. There are two 

persons sit between A and D. Here we have 3 possibilities i.e. Case 1, Case 2 and Case 3. Both B and 

E are immediate neighbors. From this statement we know the exact position of C.  
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From the given statements, P sits 2nd to the right of R. Only Q is an immediate neighbor of R. Now Case 

2 and Case 3 are ruled out. T faces the one who sits 2nd to the left of B.  

So, the final arrangement is such as- 

 
 

S68. Ans.(d) 

Sol. From the given statements, S faces the one who sits immediate to the left of A. There are two 

persons sit between A and D. Here we have 3 possibilities i.e. Case 1, Case 2 and Case 3. Both B and 

E are immediate neighbors. From this statement we know the exact position of C.  

 
From the given statements, P sits 2nd to the right of R. Only Q is an immediate neighbor of R. Now Case 

2 and Case 3 are ruled out. T faces the one who sits 2nd to the left of B.  

So, the final arrangement is such as- 

 
 

S69. Ans.(b) 

Sol. From the given statements, S faces the one who sits immediate to the left of A. There are two 

persons sit between A and D. Here we have 3 possibilities i.e. Case 1, Case 2 and Case 3. Both B and 

E are immediate neighbors. From this statement we know the exact position of C.  

 
From the given statements, P sits 2nd to the right of R. Only Q is an immediate neighbor of R. Now Case 

2 and Case 3 are ruled out. T faces the one who sits 2nd to the left of B.  

So, the final arrangement is such as- 
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S70. Ans.(a) 

Sol. From the given statements, S faces the one who sits immediate to the left of A. There are two 

persons sit between A and D. Here we have 3 possibilities i.e. Case 1, Case 2 and Case 3. Both B and 

E are immediate neighbors. From this statement we know the exact position of C.  

 

From the given statements, P sits 2nd to the right of R. Only Q is an immediate neighbor of R. Now Case 

2 and Case 3 are ruled out. T faces the one who sits 2nd to the left of B.  

So, the final arrangement is such as- 

 

 

S71. Ans.(c) 

Sol.  

 

S72. Ans.(a) 

Sol.  

 

S73. Ans.(d) 

Sol.  

 

S74. Ans.(e) 

Sol.  
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S75. Ans.(c) 

Sol.  

 

 

S76. Ans.(a) 

Sol.  

 

 

S77. Ans.(c) 

Sol.  

 

3 + 7 + 4 = 14 

 

S78. Ans.(b) 

Sol.  

 

third digit of the lowest number = 7 

second digit of the highest number = 1 

7 X 1 = 7 

 

S79. Ans.(a) 

Sol.  

 

 

S80. Ans.(c) 

Sol.  
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S81. Ans.(c) 

Sol. From the given statements, S lives on an even numbered floor. There are three persons live 

between S and the one who likes Saffron. Here we get two possibilities i.e. Case 1 and Case 2. There 

is one floor gap between the persons who like Red and Saffron. There is one floor gap between the 

persons who like red and yellow. There are more than three floors gap between M, who likes white 

and the one who likes yellow.  

 
From the given statements, P lives just below of the one who likes Blue. Here one more case is adding 

i.e. Case 2a. R lives just above the O’s floor. N likes Green. Q lives below the N’s floor.  

 
From the given statements, the number of persons live between O and N is the same as between N and 

Q. Now, Case 2 and Case 2a are eliminated.  

So, the final arrangement is such as- 
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S82. Ans.(d) 

Sol. From the given statements, S lives on an even numbered floor. There are three persons live 

between S and the one who likes Saffron. Here we get two possibilities i.e. Case 1 and Case 2. There 

is one floor gap between the persons who like Red and Saffron. There is one floor gap between the 

persons who like red and yellow. There are more than three floors gap between M, who likes white 

and the one who likes yellow.  

 
From the given statements, P lives just below of the one who likes Blue. Here one more case is adding 

i.e. Case 2a. R lives just above the O’s floor. N likes Green. Q lives below the N’s floor.  

 
From the given statements, the number of persons live between O and N is the same as between N and 

Q. Now, Case 2 and Case 2a are eliminated.  

So, the final arrangement is such as- 
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S83. Ans.(b) 

Sol. From the given statements, S lives on an even numbered floor. There are three persons live 

between S and the one who likes Saffron. Here we get two possibilities i.e. Case 1 and Case 2. There 

is one floor gap between the persons who like Red and Saffron. There is one floor gap between the 

persons who like red and yellow. There are more than three floors gap between M, who likes white 

and the one who likes yellow.  

 
From the given statements, P lives just below of the one who likes Blue. Here one more case is adding 

i.e. Case 2a. R lives just above the O’s floor. N likes Green. Q lives below the N’s floor.  

 
From the given statements, the number of persons live between O and N is the same as between N and 

Q. Now, Case 2 and Case 2a are eliminated.  

So, the final arrangement is such as- 
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S84. Ans.(d) 

Sol. From the given statements, S lives on an even numbered floor. There are three persons live 

between S and the one who likes Saffron. Here we get two possibilities i.e. Case 1 and Case 2. There 

is one floor gap between the persons who like Red and Saffron. There is one floor gap between the 

persons who like red and yellow. There are more than three floors gap between M, who likes white 

and the one who likes yellow.  

 
From the given statements, P lives just below of the one who likes Blue. Here one more case is adding 

i.e. Case 2a. R lives just above the O’s floor. N likes Green. Q lives below the N’s floor.  

 
From the given statements, the number of persons live between O and N is the same as between N and 

Q. Now, Case 2 and Case 2a are eliminated.  

So, the final arrangement is such as- 
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S85. Ans.(e) 

Sol. From the given statements, S lives on an even numbered floor. There are three persons live 

between S and the one who likes Saffron. Here we get two possibilities i.e. Case 1 and Case 2. There 

is one floor gap between the persons who like Red and Saffron. There is one floor gap between the 

persons who like red and yellow. There are more than three floors gap between M, who likes white 

and the one who likes yellow.  

 
From the given statements, P lives just below of the one who likes Blue. Here one more case is adding 

i.e. Case 2a. R lives just above the O’s floor. N likes Green. Q lives below the N’s floor.  

 
From the given statements, the number of persons live between O and N is the same as between N and 

Q. Now, Case 2 and Case 2a are eliminated.  

So, the final arrangement is such as- 
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S86. Ans.(b) 

Sol.  

 
 

S87. Ans.(b) 

Sol.  

 
 

S88. Ans.(a) 

Sol.  

 
 

S89. Ans.(b) 

Sol.  

 
 

S90. Ans.(d) 

Sol.  
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S91. Ans.(b) 

Sol. From the given statements, V sits 2nd to the right of X and both are facing in the same direction. 

Here we get two possibilities i.e. Case 1 and Case 2. There are two persons sit between V and U, who 

does not sit near to X. Z is an immediate neighbor of both W and X.  

 

From the given statements, Q sits 3rd to the left of P. Both P and Y are immediate neighbors and facing 

opposite direction to each other. Immediate neighbor of V are facing opposite direction to each other. 

 

From the given statements, Z faces outside. At least four persons are facing to the center. Here Case 2 

is ruled out now. Both W and U are facing opposite direction to Z.  

So, the final arrangement is such as -  
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S92. Ans.(b) 

Sol. From the given statements, V sits 2nd to the right of X and both are facing in the same direction. 

Here we get two possibilities i.e. Case 1 and Case 2. There are two persons sit between V and U, who 

does not sit near to X. Z is an immediate neighbor of both W and X.  

 

From the given statements, Q sits 3rd to the left of P. Both P and Y are immediate neighbors and facing 

opposite direction to each other. Immediate neighbor of V are facing opposite direction to each other. 

 

From the given statements, Z faces outside. At least four persons are facing to the center. Here Case 2 

is ruled out now. Both W and U are facing opposite direction to Z.  

So, the final arrangement is such as -  
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S93. Ans.(b) 

Sol. From the given statements, V sits 2nd to the right of X and both are facing in the same direction. 

Here we get two possibilities i.e. Case 1 and Case 2. There are two persons sit between V and U, who 

does not sit near to X. Z is an immediate neighbor of both W and X.  

 
From the given statements, Q sits 3rd to the left of P. Both P and Y are immediate neighbors and facing 

opposite direction to each other. Immediate neighbor of V are facing opposite direction to each other. 

 
From the given statements, Z faces outside. At least four persons are facing to the center. Here Case 2 

is ruled out now. Both W and U are facing opposite direction to Z.  

So, the final arrangement is such as -  
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S94. Ans.(a) 

Sol. From the given statements, V sits 2nd to the right of X and both are facing in the same direction. 

Here we get two possibilities i.e. Case 1 and Case 2. There are two persons sit between V and U, who 

does not sit near to X. Z is an immediate neighbor of both W and X.  

 
From the given statements, Q sits 3rd to the left of P. Both P and Y are immediate neighbors and facing 

opposite direction to each other. Immediate neighbor of V are facing opposite direction to each other. 

 
From the given statements, Z faces outside. At least four persons are facing to the center. Here Case 2 

is ruled out now. Both W and U are facing opposite direction to Z.  

So, the final arrangement is such as -  
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S95. Ans.(b) 

Sol. From the given statements, V sits 2nd to the right of X and both are facing in the same direction. 

Here we get two possibilities i.e. Case 1 and Case 2. There are two persons sit between V and U, who 

does not sit near to X. Z is an immediate neighbor of both W and X.  

 
From the given statements, Q sits 3rd to the left of P. Both P and Y are immediate neighbors and facing 

opposite direction to each other. Immediate neighbor of V are facing opposite direction to each other. 

 
From the given statements, Z faces outside. At least four persons are facing to the center. Here Case 2 

is ruled out now. Both W and U are facing opposite direction to Z.  

So, the final arrangement is such as -  
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S96. Ans.(b) 

Sol. From the given statements, Q is not an all-rounder and belongs to Sri Lanka. Here we get 2 

possibilities i.e. Case 1 and Case 2. S belongs from England but neither a bowler nor an all-rounder. 

Both T and S are in different category. T and the one who belongs to Namibia both are in same category.  

 
From the given statements, U and the one who belongs from India both are in same category. R belongs 

from India. According to the conditions 3 batsman or 4 bowlers are there in Case 2 which is not possible 

So, Case 2 is ruled out now. P is not from Pakistan. 

So, the final arrangement is such as-  

 
 

S97. Ans.(c) 

Sol. From the given statements, Q is not an all-rounder and belongs to Sri Lanka. Here we get 2 

possibilities i.e. Case 1 and Case 2. S belongs from England but neither a bowler nor an all-rounder. 

Both T and S are in different category. T and the one who belongs to Namibia both are in same category.  

 
From the given statements, U and the one who belongs from India both are in same category. R belongs 

from India. According to the conditions 3 batsman or 4 bowlers are there in Case 2 which is not possible 

So, Case 2 is ruled out now. P is not from Pakistan. 

So, the final arrangement is such as-  
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S98. Ans.(a) 

Sol. From the given statements, Q is not an all-rounder and belongs to Sri Lanka. Here we get 2 

possibilities i.e. Case 1 and Case 2. S belongs from England but neither a bowler nor an all-rounder. 

Both T and S are in different category. T and the one who belongs to Namibia both are in same category.  

 
From the given statements, U and the one who belongs from India both are in same category. R belongs 

from India. According to the conditions 3 batsman or 4 bowlers are there in Case 2 which is not possible 

So, Case 2 is ruled out now. P is not from Pakistan. 

So, the final arrangement is such as-  

 
 

S99. Ans.(c) 

Sol. From the given statements, Q is not an all-rounder and belongs to Sri Lanka. Here we get 2 

possibilities i.e. Case 1 and Case 2. S belongs from England but neither a bowler nor an all-rounder. 

Both T and S are in different category. T and the one who belongs to Namibia both are in same category.  

 
From the given statements, U and the one who belongs from India both are in same category. R belongs 

from India. According to the conditions 3 batsman or 4 bowlers are there in Case 2 which is not possible 

So, Case 2 is ruled out now. P is not from Pakistan. 

So, the final arrangement is such as-  
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S100. Ans.(a) 

Sol. From the given statements, Q is not an all-rounder and belongs to Sri Lanka. Here we get 2 

possibilities i.e. Case 1 and Case 2. S belongs from England but neither a bowler nor an all-rounder. 

Both T and S are in different category. T and the one who belongs to Namibia both are in same category.  

 
From the given statements, U and the one who belongs from India both are in same category. R belongs 

from India. According to the conditions 3 batsman or 4 bowlers are there in Case 2 which is not possible 

So, Case 2 is ruled out now. P is not from Pakistan. 

So, the final arrangement is such as-  
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